Homework 03-08

Pythagorean Identity: sin’ @+cos’ 6 =1

(Note: it is customary to write sin® @ instead of (sin#)* and cos’ @ instead of (cos&)’.)

Exercise Set A
In 1 -8, find the sine and cosine of the given angle.
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In 9-12, the coordinates of a point on the unit circle are given. If the terminal side of
angle @ in standard position passes through the given point, find siné, cos € and tané .
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Given the values of sin @, cos € and or tan &, determine the quadrant in whif 1% ,1? \r pE
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Given the value of sin @, cos @ or tan € and the quadrant in which @ lies, find the value
of the other two functions.
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If tan @ is positive and cos & is negative, in which quadrant does € terminate?
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If tan@ <0 and dini f 0, in which quadrant does € terminate?

If cos@ <0 and tand > 0, in which quadrant does & lie?
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I sinz? <0 and gﬁfﬂ <0, in which quadrant does € terminate?

. If cos@ >0 and (cos #)(sin &) < 0, in which quadrant does 8 lie?
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. If tan 4 > 0 and (tan A)(sin 4) > 0, in what quadrant does £A4 lie?



